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VEYEL 2RS4 1

EFREERERE
2016 £E 5 A
&% AE
4 R E® R SEE =i
(kg/hr) (kg/hr) (kg/hr) (B
(a) [FREEEH - /NP E(HFFETRENRRER)
fkr® 2.277 0.00 - 0.21 0.00 =
BRI 1.512 0.00-0.71 0.05 =
L& (HCI) 4545 0.01-0.61 0.15 =
#Fib= (HF) 0.306 0.01-0.12 0.04 =
—&4LHR (SO2) 15.147 0.00 - 4.16 1.97 =
—&(khx (CO) 7.578 0.00 - 0.27 0.06 =
FELY) (NOX)
PL=%(ESE (NOy) 30.303 1.45-11.01 4.10 =
EHE
(b) FFEEDH - HESE (HREHEREEHAGEE)
fckr ™ 0.756 0.00 - 0.02 0.00 &
Wiy 0.756 0.01-0.16 0.05 =
(L& (HCl) 0.756 0.09-0.26 0.15 &
FIbE (HF) 0.072 0.02-0.05 0.04 =
&1L (SO2) 3.789 1.61—2.37 1.95 =
—&{EhE (CO) 3.789 0.04-0.08 0.06 =
FE1LY) (NOX)
PI=&{EE (NOy) 15.147 2.25-551 411 =
HE
e HERR(E® Bhgsh T
(kg/hr) (kg/hr) =)
(©) SR (=R MLERFrEE)
X 0.003789 <0.0003 =
5 S SERTEE R 0.003789 <0.0012 g
HEBRED 0.0378 <0.0053 =
R kg ) 7,575 x 10° <6.072 x 1020 e




VEYEL 2RS4 1

EFREERERE
2016 4£5 A
&% AF
4 R E® & & SEEE ZEfE
(kg/hr) (kg/hr) (kg/hr) (B
(a) [FREEEH - /NP E(HFFETRENRRER)
fkr® 2.277 0.00 —0.04 0.01 =
BRI 1.512 0.00-0.28 0.02 =
L& (HCI) 4545 0.03-0.25 0.13 =
#Fib= (HF) 0.306 0.01-0.11 0.03 =
—&4LHR (SO2) 15.147 0.02 -3.85 1.93 =
—&(khx (CO) 7.578 0.00-0.12 0.01 =
FELY) (NOX)
PL=%(ESE (NOy) 30.303 0.32-8.92 3.06 =
EHE
(b) FHEEDH - HSE (HREHEREEHRGERE)
fckr ™ 0.756 0.00-0.01 0.01 &
Wiy 0.756 0.01-0.05 0.02 =
Z4LE (HC)) 0.756 0.10-0.19 0.13 =
FIbE (HF) 0.072 0.03-0.04 0.03 =
&1L (SO2) 3.789 1.62-2.21 1.93 =
—&{EhE (CO) 3.789 0.00 — 0.02 0.01 =
FE1LY) (NOX)
DL=&1EE (NO2) 15.147 1.08 —4.52 3.08 =
HE
e HERR(E® Bhgsh T
(kg/hr) (kg/hr) =)
(©) SR (=R MLERFrEE)
X 0.003789 <0.0003 =
5 S SERTEE R 0.003789 <0.0011 g
HEBRED 0.0378 <0.005 =
R kg ) 7,575 x 107 <5.250 x 1020 e
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2016 4£5 A
&% BE
4 R E® R SEE =i
(kg/hr) (kg/hr) (kg/hr) (B
(a) [FREEEH - /NP E(HFFETRENRRER)
fkr® 2.277 0.00 - 0.50 0.01 =
BRI 1.512 0.01-0.77 0.04 =
L& (HCI) 4545 0.01-0.31 0.13 =
#Fib= (HF) 0.306 0.01-0.15 0.03 =
—&4LHR (SO2) 15.147 0.10 — 3.09 1.93 =
—&(khx (CO) 7.578 0.00 — 0.04 0.02 =
FELY) (NOX)
PL=%(ESE (NOy) 30.303 0.92-11.45 3.09 =
EHE
(b) |[FFEEESH - HI9E (HFEIIREIAGETE)
fckr ™ 0.756 0.00 - 0.09 0.01 &
Wiy 0.756 0.01-0.11 0.04 =
(L& (HCl) 0.756 0.08-0.16 0.13 &
#FibE (HF) 0.072 0.03-0.04 0.03 =
— & LR (SO2) 3.789 1.62-2.36 1.93 =
—&{EhE (CO) 3.789 0.01-0.02 0.02 =
FE1LY) (NOX)
PI=&{EE (NOy) 15.147 1.76 — 4.50 3.10 =
HE
e HERR(E® Bhgsh T
(kg/hr) (kg/hr) =)
(c) SR (=R MLERFrEE)
X 0.003789 <0.0003 =
R S SEYAE R 0.003789 <0.0013 g
HEBRED 0.0378 <0.0057 =
R kg ) 7,575 x 107 <6.496 x 1020 e




VEYEL 2RS4 1

EFREERERE
2016 £E 5 A
E[fz BF‘ [Eﬁﬁ [E1]: Please include BE.
4 R E® R SEEE =i
(kg/hr) (kg/hr) (kg/hr) (B
(a) |[FREEEEH - VNP E(HFFETRENRRER)
fkr® 2.277 0.00 — 1.07 0.02 =
BRI 1.512 0.01-0.16 0.02 =
L& (HCI) 4545 0.01-0.12 0.06 =
#Fib= (HF) 0.306 0.01-0.06 0.02 =
—&4LHR (SO2) 15.147 0.03-2.88 1.41 =
—&(khx (CO) 7.578 0.00 - 0.08 0.02 =
FELY) (NOX)
PL=%(ESE (NOy) 30.303 0.90-7.06 2.55 =
EHE
(b) FFEEDH - HEE (HREHEREEHAGEE)
fckr ™ 0.756 0.00—0.16 0.04 &
Wiy 0.756 0.01-0.05 0.02 =
(L& (HCl) 0.756 0.04-0.08 0.06 &
FIbE (HF) 0.072 0.02-0.03 0.02 =
&1L (SO2) 3.789 1.33-1.52 1.42 =
—&{EhE (CO) 3.789 0.02-0.03 0.02 =
FE1LY) (NOX)
PI=&{EE (NOy) 15.147 1.86 —3.93 2.71 =
HE
e HERR(E® Bhgsh T
(kg/hr) (kg/hr) =)
(c) SR (HsRMLERFrEE)
X 0.003789 <0.0002 =
5 S SERTEE R 0.003789 <0.0009 g
HEBRED 0.0378 <0.0042 =
I R kg () 7,575 x 10° <4.617 x 1020 e
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